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201 LBr2g | 11,256 12,430 A1,174
= 9,005
Al 2,251
01 At 2teltl 11,256 12,430 A1,174
OEEZ 7Y ¢ oS H&E & =84l 9,756
= 7,805
Al 1,951
OAtell 22| 23], 3oz & 29& | 1,500
= 1,200
Al 300
202 04 4l 5,760 5,760 0
= 4,608
Al 1,152
01 2LHAbI 5,760 5,760 0
Oz &AL 2L Y]
160,000 3 12 5,760
= 4,608
Al 1,152
301 etz azd 1,500 0 1,500
= 1,200
Al 300
12 J|Et2 &3 1,500 0 1,500
Ofggds-E22 B4 2328 2574
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= 1,200
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202 (44| 4,800 4,548 252
= 3,840
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= 1,536
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O2d=220 WEH 2,880
= 2,304
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405 KtatE =S| 2,000 4,600 22,600
= 1,600
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01 XA =EFH=HI 2,000 4,600 A 2,600
Ooz=H +¢ 2,000,000 = 1CH 2,000
= 1,600
Al 400
ol g1l 16,000 16,000 0
801 Gl 16,000 16,000 0
01 oilgl gl 16,000 16,000 0

oollgldl 16,000




